Y=-23,788

Y=-23,780

X=-109,708 —— " i @

+370

X=-109,716 —— -l
. HABT2 ‘.
- QL
, ) . ,
L /—Uj I~
X=-109,724 —— by ‘H 7 ) ) L 1
B <D B w2 - %
n I P )
) el
hd U ‘~I
— o QT

57

—5HM

3B o

5 1 EERFIK (1 100)



Y=-23,788 Y=-23,780
2

# X=-109,708 —— b i ! © —

X=-109,716 ——

X=-109,724 ——

5 2 mEAs X (1 1 100)



3
-
%

BHOHWS ~G00H "R@BE T/29A0T
EHREWSE~G00H "HHNURM@DE 1/33A0T
BOHWOTI~S 0P H "RADE 1/2~1/L TIA0T
(Vo) BEHWS ~G0PHF "FTEMNDEE 1/6AS7C
(C6HTF) BE#HWS ~G00E "N BE ¢/SJA0T
(LHTF) BOHEWE~S00H "HHRADBE 1/69A0T
(LEF) BEGEWw L ~T O “RADRIEXN 2/VIA0T
(LEF) BEGEWS ~G00 8 "RABBE ¢/CJA0T

LT
91
ST
4t
€l
¢l
TT
01

6 BAW G ~G 0P H RAB AN A~BREN €/7~C/TIA0T
BRHEWE ~S00H NaABNG T/VIA0T

HOHWS ~S 008 MRADBE ¢/€ASC

BHERHWS~G 00 H WD BN 2/VIA0T

BHRHWE ~G00H NADRE /~T/SJA0T

HERHE - BGEWS ~S00H MRADEE 1/89A0T

MR - X - EHITW G ~C 00 E MAB B 5/SIA0T

HERmE - X - EHW G ~S 00 MABRE T/83A0T

HEEE - ME CRADE T/LTIAS L

— ANM T O~ 0

N102) Mg
(EF#E "2k M
(B a2 M

¢ T HFk
@LeYE) T TME
T

JUUHEY

y8L'€2-=A

08L'€2—=A

1 50)

AAE X R EEMr X (1



X=-109,708

X=-109,716

X=-109,720

BiEL B K OB
Bt 1 (BAHBT2)
Mol (B8

il (BPE. EEEDE)
il (Y. EEELE)
il GV )

il CHED, REEDR)

JUEYEUU

-
¥

2.5Y3/2 E#aibie. B 0.5~ 3mEED & - MaRkds A

10YR3/1 B8R, B b0.5~ 5 miD& - % - MRtsH
10YR4/2 IR ETE, 1B 0.5~ 7 o & - aRE3s
10YR3/1~3/2 BB EMJE. B 0.5~ 3 cniE D&

10YR6/3 IS W EAMIE, B $0.5~10cmE it -k GIitng)
10YR4/2 IKE#BEIRR. B 0.5~ 3 cnig) &

10YR4/2~4/3 IRERE~IZSINWEBEDIE. B 0.5~ 5 miED & - &
10YR4/3 IZ8WEHBEITE. 1B 0.5~ 5 mEh R

10YR2/2 BB aiE. B 0.5~ 3 miEf i

10YR2/2 B#faibTE. B $0.5~ 3 mEH &

10YR4/1 #IKiSYE. 18 0.5~ 5 cmiEA &

10YR4/2 IREBEWIE. 1B 0.5~ 3L E (HHEREEH)
10YR3/2 2 EAMIE. B 0.5~ 3mEL R (HHER @)
10YR2/1 BETE, ©OHE, B0.5~ 7 cmid R (HERIERR)
10YR2/1 BaWJE, ©OHE, RBe0.5~ 7 cniEdE GHHERMEE)

X=-109,728

10YR4/2 IKEB BRI, 1B ¢ 0.5~ 5 cmi D &

10YR4/1 #8IKEYE. 18 0.5~ 5 cmED &

10YR2/1 BAMYE, ©OME, R 60.5~ 7 iR (BHERHER)
10YR4/1 #KHTE. 18 0.5~ 5 cmB/ D (HHEREH)
10YR4/1 #8IKHYYE. 18 0.5~ 5 cmiED &t

10YR4/2 IREMB G, B b 0.5~ 5 emiD & (HHERER)
10YR3/2 B#&AMIE. 1B 60.5~10cni & - & (+3%70)
10YR2/2 Bt faibie. 1B ¢0.5~10miE & (15%70)
10YR3/1 E#&amiE. & 0.5~ 2 mi &

7.5YR2/1 BEMIE. POME, 1B 0.5~ 5 DR
2.5Y3/2 B@EWIE. 1B $0.5~ 5 milD i
10YR1.7/1~2/1 BEWE. & $0.5~10cmiE> &

10YR2/2 B ampie. ¥HE, Bo0.5~ 7 miEhi (478)
10YR2/1 B#&EWTE. HME. Eo0.5~8miELRE (1478)

1 50)

AL X REE X (1



15 L mRHIRT ders)

e S i
L. f

2 Wmimest dthb)




3 @1 k6061 (e 5) Y1 75 Eosefiikit At o)




LR

1 HE2mes

B 8% 98 ZHE AR s H LRI (R S) 3 A1 AR 107 AEARER VRS (R 5)




%

hiR

N

1

it - #FA



